Code No:

BUILDING CONSTRUCTION

Time: 2:30 Hours] [Maximum Marks: 50

NOTES:

I.  Attempt all questions. All questions carry equal marks.

II.  Students are advised to specially check the Numerical Data of question papetsin both
versions. If there is any difference in Find Translation of any question, the/students’should
answer the question according to the English version.

II.  Use of Pager and Mobile Phone by the students is not allowed.

Q1) Attempt any two parts. [2x5=10]

a) Explain the concept of foundation and its purpose.
b) What is dewatering? Using it is required.
c) What is scaffolding? Explain with a neat sketch.

Q2) Attempt any two parts: [2x5=10]

a) Explain the terms - King closet, queen closet, hearting and jambs.
b) What are types of Mortars and how it is selected.
c) Differentiate rubble and Ashla masenry:.

Q3) Attempt any two parts: [2x5=10]

a) Differentiate between English bond and Flemish bond.

b) Write ill effects of dampness in residential houses.

c) Explain various types of stone masonry. State various principle to be observed during
construction stone masonry walls.

Q4) Attempt any, two parts [2x5= 10]

a) Explain types of Arches.
b) What are the fixtures and fasteners.
c) Define header, stretcher, queen closer and course

Q5)Attempt any two parts: [2 x 5=10]

a) Write specifications for marble flouring
b) Write a note on roof treatment. What is bifurcated stair?
c) Differentiate between shallow foundation and deep foundation
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